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DIPLOMA IN WATERSHED MANAGEMENT 
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Term-End Examination 
005} 

December, 2013 

BNRI-103 : SOIL AND WATER CONSERVATION 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. Use of calculator is 

permitted. 

	

1. 	(a) Define the followings : 	 5x1=5 

(i) Runoff 

(ii) Contour 

(iii) Saltation 

(iv) Water harvesting potential and 

(v) Permeability 

(b) Diagrammatically explain the deposition 	5 

process in wind erosion. 

	

2. 	(a) Distinguish between vertical interval and 

horizontal interval of contour bunds. 

Write equations for their computation. List 

the factors affecting spacing of contour 

bunds. 	 1+2+2=5 

(b) What do you understand by in-situ water 

harvesting ? List different in-situ water 

harvesting techniques. 	 1+4=5 
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3. 	(a) What is roof top rainwater harvesting ? 
Explain its different components with the 
help of neat diagram. 	 1+4=5 

(b) Define runoff coefficient. Compute the 
runoff amount from 500 ha green area 
where rainfall accurrence is 20 cm. 	2+3=5 

	

4. 	(a) What are the main considerations for 	5 

designing farm ponds ? 

(b) What is contour wattling ? Explain its 	5 
function with the help of a line diagram. 

	

5. 	(a) Explain intercropping and mixed cropping 	5 
for controlling soil erosion. 

(b) How does land-slope affect velocity of water 
	3 

flow and its kinetic energy ? 

(c) How does organic matter help in reducing 2 

runoff and erosion ? 

	

6. 	(a) Compute the erosivity of rainfall storm 	5 
having average rainfall intensity of 
60 cm/hr and depth of rainfall 90 cm. The 
maximum 30 min rainfall intensity is 
5 cm/hr. 

(b) List three distinct steps involved in erosion 	3 
process. 

(c) Classify Gullies based on shape. 	 2 
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7. (a) Explain recharge shaft method of 5 
groundwater recharge with the help of a 
neat diagram. 

(b) What is spillway ? Explain its functions. 	2 
(c) Compute the water demand for a farm 	3 

comprising of 200 cows, 70 sheeps and 
50 goats for a period of 50 days. 

8. 	(a) Enumerate different slope stabilization 
measures. What are the various functions 
performed by diversion drains ? 	2+3=5 

(b) How does the plantation help in controlling 	5 
wind erosion ? 
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